Algebra and the Number Plane (1d) name

1) If a=83, b=4 and
c=5 find

a) a+b+c

b) ?2 +5
C) gc + b
d) Zc - a
e) ;bz
f) :2 b

2) Plot the points A(3, 4)

B(-2,-2) and C(1, -2)

3) Simplify
a) 7a + 7a =
b) 4y -y-=

C) 3a + 5b + 5a + 7b

d) 6k + 5h + 6k

e) 3f + f + 3f +7g

f) 5p + 79 + p + q

g 6m? +2m + m?-m

h) 4p + 7m - p + 2m

i) 3xy + 5 + 6xy - @

Simplify
gxgxgxgxg=

6xkxkxkxk =

LL
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~—"

cxCxCxaxax3d=
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) 3xyxyx5xy=
e) hxhxhxh =

|f) pxpxdxkxkxp

g S5xtxtx3xtx2xt

Parent’s signature and comment

5) Simplify
a)  y*xy? =

b) a®xab =

e) 3k8x 3k =

f) 4a8 x at =

6) Expand

a) 8(y -7) =

b) 4(3a +4) =

c) 8y - 5) =

d 2(y + 5a)=

e) 6(83 - 29) =

f) 3(h +9) =

7) Solve

a) a+ 15 =21
a =

b) b-6=11
b =

C) 5c = 40
C =

d) d+5=09
d =

e) be - 7 = 28
e =

f) 3f+1 =25
f =

9) 6g - 2 = 28
g =



